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SECTION (A) : TECHNICAL
e L A 25 KVA, 200NE00 V, two winding transformer is connected as shown in lig.
- .;_'.1'I
T- 0V Lead
T ) l
The full load KVA of connection is
(A 126 (B 275 {Cy 376 (M 176

G % A single phase transformer has resistance and reactance of 0.2 pu and 0.6 pu
s pespectively. Its pu voltage regulation at 0.8 pf lagging would be

(A 052 (B) 042 i 02 T 0.36

@ 3. Given the l-'r:'lllw-i.nu phaser diagrnm of induction machine, identify its mode of operation

sEs

i
4
T

Mode 4 Speed
(4 Matoring > MNs
{B} Generating = Na
() Metoring = Nz
(D Generotiog < Ms
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@ 'S The damping eatks of the second order system which has the unit step responss os shown
an figirs 18
4000
LML
L0 / \ PN —
\/ A
=i 1 {se0)
0.01
A 1 (B 2 (C) D414 (Dy eero
.-f_a b. An example of & bounded signal is
e m o D ¢ wint
E}f 6. The two signal ow geaphs shown in figure are oquivabent. The value of & and H
respectively are 05 %
=]
X, X, X, X o Xy
(4) 9,45 B %35 {Cy 20,8 (D) 20,2

% 7 A transfer function has a second order denominator and constant gain in the nameratar
(A} the system has two zeros at the origin (B)  the system has two finite zeros
() the system has two zeros at infinity (D)  the system has ene sero at infimty

(D 8 Asystem is linear if and only if it satisfies
(A} principle of superposition (B} principle of hamagensity
(21 both (A) and (B) above (D) neither (A) and (B} above

@ a. If At} has units °C and oft) has units mm, the units af K in the fkgure shown are

it cit)
—_— K ——t
{A) °C (B} mm™C (C} mm Dy “Cimm
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The latching current of T, is 1 mA. The minimum width of gate pulse required to turn on
ECRis

&) 2 peec (W 1 usec () 05 psee D) 15 paee

A single phase fully controlled rectifier has an aversge output voltege of 200 V when
a =0, Its cutput voltage when & = 30" is approximately

(A) 200V (B 160V (3 173V (M 183V

A 200 V deede converter is turned ON for 30 g sec and turned off for 10 g sec. The output
voleage will be

{A) DOV (B 150W Wy 176V (M 120V
In single pulse modulation used in PWM inverters, for eliminating thind harmonic
component in the output veltage, the pulse width should be

(A) &0® B (Cy 110* (D} 120°

The dynamic resistance of a p-n junction germanium disde at room temperature with
current of 1 mA under forward biasing is

(A) 100 0 B EAmpo i 130 (D} 260

Thermal runway is not pessible in FET because as temperature of FET increases

(A} mobility increases B mobility decrenses
{C)  drain current decreases i transconductance increases

5 GREET (E)-12
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16.  Auto reclosing is used in cose of

Pe
d (A} lightning arrcstor (By  bulk ml C.B
{C}  airblast CB (I minimuam oil C.0
,-{I_'g 1T. A tronsmission line hes 1 P.U impedancs on a base of 11 KV, 100 MVA. On a base of
sl 56 KV, it will have a P.U impedance of
Ay 1LPU (B) 02PU ) 002PU Iy ciPU
wje’ 18 A 50 He 4 pole turboslternator rated at 20 MVA, 132 KV has an inertin constant
'_j'.;) H=¢KWMK1-’A.Thel(.E.mradinthema:rumnhm“pwrlh

(A 80 KJ {By 80 MJ {C) 40MJ {0y 20MJ

~,
Fpale |18 The inertia constants of two groups of machines which do not swing together are M, and

[-'“ M . The equivalent inertin constant of the aystem is
Ay M, + M, (B M, -M, M -M,
MM
C MM i)
Ch MM, (o M, + M,

fll_‘:} 20. The following figure shows doad characteristics of de generator. Match the characteristic
[ with the type of generator

~
v 1 _ p = shunt

q — flat compound
I r — over compound

m 8 — differential

v
o A

Ay p-l g1 r-III =DV (B} p-Il g-I01 IV a-1

Cy p-Il g1l e-1 =0V (D p-lll g-IV -l s-II

% :
Jele) 210 A 36-slot, 4-pole, de machine has a simplex lap winding with two conductors per slot. The
[ back pitch and front pitch adopted could be respectively

(A) 15,13 B 18, 17 i) 21,18 (Dy 23,21

GREET (E)-12 6
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i j} 22, The alternating voltage Gsmusobdal) seross and cureent through a cireult are represented
Iy fa = jb) and e + jof} respectively, The power in watts is given by

(A} ae-hd (B} be+ad (C) aesbd (M be—ad

r?":_,:j“'l 3. The relation between the resonant frequency f, and the hall-power frequencies f and f,
i

W ek ® h=02E @ L M) fEafieft

|

E%) 24, In a balanced star network the measured resistance between any two terminals is 641,
The resistance hetween any two terminals of the equivalent delta network is

&) 180 (B &0 C) 450 iy 90

—
@ 25,  Kirchhofls current law is based on the law of
{A) conservation of energy {B) conservabion of charge

{C)  consorvation of momentum ([ conservntion of mass

'.E_Q 26.  Inthe circuit shown which of the following statements is NOT correct?

mn
:m
44
A "
The cireuit has a supermesh ip=i +6
(C)  -2046f +14i, =0 (DF =20+ 65 +2{i, =iy)=0

(5_9 27, In the civeuit shown, The voltage across 402 resistance v can be expressed as

AAAA
6141
+
E(V) v 1A}

10

(A) 0D4E-081 (B} OGE-041 C) D4E-241 M D4E+241

T GREET (E)-12
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J 28 The following speed-torgue charucteristics are ohbtained for a G-plase induction: motor.
i Pick up the correct metlod of speed contrel from the optiona. (eatput constant]
T
1 N=MN
N=n
V
[F] 7 cantrol [LEH] ?. cantre]
{0} pobe changing with [ constant (D) st wltage optel, § oonstant
n.]?-ll 29.  The name plate of a 3-phase induction mater rends s
e Ly V=400V bp = 5 f= 50 Hz
I=16A Con- A N = 540 rpm
The number of poles for which stator winding is woeund
Ay 1o B 12 [ 1 {3
e

Fia _al 30, The rotor impedance of g slip ring induction moter is (0.1 + j0.E)0/ ph . The resistance’ph
[
3 to be inserted into rotor to get maximum tergue a1 starting should be
(A} 01D (B 031 (Cy 040 Dy b g

ey 31 Given the following phasor dlagenm of ealient pole synchronous machine, pick up the
£ carrect mode of operation

¥
.ﬂ
2

Ly Xy
T E
(A)  penerator, Inginng pf (B generntor, upf
(£} motor, with leading pf (D} motor, with wpd
GREET {(E)-12 B
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The rangfer function of n system is

1
fe+1ls=2)
The impulse respanse of the system is
A o e (B cPaie’ Q) e'4e® m e'-e®

In n thermal power plant, nsh is collected in
A} mills (B} hoppers {0y bunkers (D) haaler

The average life of neutrons after they decay is !
{A)  1sec (B 10 sec (Cy 100 sec (D) 1000 sec

The operating time of instantaneous relay is
{A) 0001 e (B} (01 sec iC} 0O1sec (D) 1see

For & mound wire, the approcimate value of fusing current is given by

Ay Kdd m JKa' © %JF 0 vd*

SBtringing chart is useful for
(A} the design of tower {B) the design of insulator string
{C)  Fnding the g in the conductor (I} finding the distance between the towors

The self GMD method is used to evaluate
(A} inductance (B} capacitance

(€} indwctanee and capacitance (D) resistance

The velocity of travelling wave through a cable of relative permitivity 36 is
(A) 3=10°misec (B Zx100misec (O 05+ 10°misee (D) 10° misee

The coeffictent of reflection for current wave is
Ay 1 m 2z 1 -1 (o

A relay has a rating of 5 A, 2.2 es¢ IDMT and n relay setting of 125% TMES = 0.6, It is
connected to a supply cireuit through a C.T. 40066 ratio, The fault eurrent is 4000 A The
operating current of the relay is

(A) B.254 (B B6A ) BA () Z2A

9 GREET (E)-12
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42, A diffevential amplifier hos » differential gain of 20,000, CMRE ; 80 dB, The common
mode gain 18 given by
A 1 B vz {Cy 2 i 250
43.  An amplifier hos input power of 2 micoowatts, The power gain of the amplifier is 60 B,
The sutput power will ba
(A 2 milliwatts (B B microwattas () 7 watts (D) 120 microwalls
44 The voltage guins of the amplifier with and without feedback are 20 and 100 respuctively,
The percentage of negative feedback would be
(A} 40% (By B0 C) 4% (m &%
45.  For OPAMP in differential configuration, apen loop gain is 100000, and differential input
voltage is 2 oV, Power supply for OPAMP is £ 12V, Then sutput valtage will be
M =12V | -12V € oV Dy 2 uV
46, Ad-stage ripple counter hus Flipflop with propagation delay of 25 naee and pulse width of
strobe input 10 nsec. Then the maximum operating frequency at which counter operates
reliably is
{A) 1667 MHz (B 17.6 MHz {C) 1267 MH= {0y 1176 MH=
47.  The percent resolution of an 8-bit IVA converter is
(A) 0402 (B 1256 i 1zEs (D) (A) and (B) both
48, The diode used in a clippling circuit has &, = 260 and B, = 1M . The external resistor
R i=
(A) S0K6 (By 5K ) 12EMO (00 26 M0
49, ‘Which cireuit iz used as ﬂmp]ltuﬂz camparator?
{A)  Bistahle (B Monostable () Astable (D Schmite trigger
GHEET (E)}-12 10
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Adbe series moter s connected os given below

TT >4+ T

The per unit values of R and Ry to get the above speed tergue characteristic would bo
Ay 0,05 (I 0505 {C) 08, = D) =, 0.8

A 200V de shunt motor is renning at 1000 rpm and drawing a coreant. of 10 A Tts
arimature winding resistopes i 203, It is braked by plugging. The resistance to be

connected in series with armatuee to restrict armatuee current to 10 A, is
{4) 320 By 360 (Ch 380 (D). 40 0

A transformer has mazinmum cfficiency at %I‘.h of full load. The ratio of it iron loss (p, )

and full load copper loss (g, ), is

. 16 k] 3
(A 3 ® < ) T im :

The loilowing conneetion of three single phase teansformer bank results in

(A} Bphase o 2.phase conversion (B} 3-phase to 3-phase
(€1 Z-phase to 3-phase conversion (M 3-phase to 6-phase conversion

11 GREET (E)-12
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b 5 g=1 5
(et B4, The tnitial value of fit), with teanefoem Fis) - Feolleed is

“w o ® 1 © = ™ L

&) BB, The two-port purameter by, s called
: {A) open-cireuit output admittance (B short-circuit input impedance

(0} cpen-circuit reverse voltage gain (D} short-cireuit forward current gain

JB 66 The Norton's resistance of the circuit shown is
40 141
3 1a ZA — I,
]
Ay 170k (B 30 ) 40 (I - 0B

@ §7. The impedance of a two-element serics circuit is represented by (20— j10}0 at a certain
frequency, I the frequency i doubled, the new value of impedance is
A (20— 50 (B (s0-jmola (0 (0-joje (D (20— 2000

@- 58. A unity feedback contrel syatem has forward-path transfer function l:-:f:'lca-d%-j. IF the

design specification is that the steady-state ervor due to 8 unit ramp input is 005, the
valoe of K allowed is

(A) 20 (By 40 [y 10 {m &0

@ 59, The transfer function of a system has the form Gh}rm%. At very high

frequencies the Bode gain curve has a slope of
A) —HdBoctave (B} -12dBlectove (C) 6 dBfoctave (D) 12 dRioctave

@ B0, A unity feed-back system has open-loop transfer function

K
GHilo)= ﬁ;+di;+lﬁi
It's roat bocus plot intersects the jo axis at
) =iz (B xj4 :
(C} |8 ([ does not intersect the jo axis
GREET (E)-12 12
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fidhe’) 61, The potier Lriangle of synchronous generator is as shown in figure

Volts
M OCe

ZPF

Curve

///

The segment DE refers to field current to compensate

=

{A) leakage reactance drop (B) armature resction

{C)  saturation (M) resistance drap

62. Im alip test on salient pole synchronous machine, the stator mesf alipnment for
L maximum'minimum current drawn from mains is

Maximum current § Minimum current +
(A) along 45 to g-axis along d-axis
(B}  along g-axis along 45 w0 d-axis
(C) along d-axis along eaxis
(D aleng g-axis along d-uxis

@ 63. Two synchronous generators .0, are operating in parallel and are equally sharing
KVAR (Lag) component of load. To shift part of KVAR from &, te O, while keeping
terminal voltnge fixed, the following action must be done

(A4) Raise If, and lower If, (B) Lower Jf, and raise If,

{C}  Lower If, or raise Jf, (D) Raise If orlower If

13 GREET (E)-12
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Lixad fhow studies involve selving simultanenos

{A)  lisear algebiake squations (1) non limenr alpebraie squations
{Cy  Tlinear differential equations Dy non limear differential eguations

A 12 bus power system hos 3 voltage controlled buses. The dimensions of the Jacohion
matrix will he

Ay 21=21 (B 2=19 ) 18=18 (D) 9= 31

The eoat funethan of & 50 MW gonerator is given by (g, is the geserator louding)
Flp )= 225+ b3, +0.02p]

When 100% loading 18 applied, the Incremaental Fuel Cost {(IFC) will e

(A} Hs. 65 per MWh (B Re &6 por MW

() Rs. 33 per MWh (D) Rs. 32 per MW

The ABCT constants of a 3 phase transmizsion line nre

A=D=08[1

B=170|85'0

€= 0,002 $0.4° mho

The sending end voltage 15 400 KY. The receiving end voltage under no land condition is
(A} 400 KV (H 5600 KV (0 320 KV M 417 KY

Bundled ennductors nee used for EHV transmisston lnes primarily for seducing the
(A)  Surge impedance of the line By I'R losses
(€} Voltage drop scross the line (D4 - Corona loas

If all the sequence voltages at the fault point in & power system are equal, then the fault
1=

(A} thres phase fault (B8 line to proand Bale
(C1 B to ke fault (¥ double line to grownsd fauly
IﬁF:\'_. 7. Severe over voltnges nre produced during areing fults in o power eyatom with the
= meubral
(A)  isoboted (B solidly earthed
{C} carthed through a low resistance Dy earthed through an indoctive coil
GREET (E}-12 14
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SECTION (B) : APTITUDE
_— .'@. ]d[lnl.j‘r}' the number which should come in the |:||an’:E' ul'queatinn mark?
. 4
i 7
29 15
113
58 -
{A) 452 (By 454 (Cy 446 (D) 432

” .;’?g; Tdentify the number which should come in the place of question mark?

(A) B4 By 52 iy BG o T8

" ,"@ X introduces Y saving, "He is the husband of the grand daughter of the father of my
father”, How is Y related 1o X7

{#)  brother () uncle (C)  co-hrother () brother-in-law

1%y @ Ravi is 7 ranks ahead of Sumit in n class of 39. If Sumit's rank iz seventeenth from the
last, what is Ravi's rank from the start?

Wy 11 B 15 iy 13 oy 8

Lf!':l Eﬁ} In o certnin code, Bi nie pie’ meane Sanme good ke’ ‘nie hat 1ik" meane “some real
stories; * pin lik tol’ means “many good atories”. Which word in the code means ‘jokes™

(A} nie (B  pie (Cy Lk Dy i

L @ There are five bus stops, A, B, C, D, E nt equal intervals. C is not the middle stop. A and
E are not terminal stops. O comes twice a8 many stopa before T in upward journey as B
eomes after A. D is the Orst stop in downward journey. The correct sequence of stops in
downward journey is

{A) ABDCE (B CDAER (Cy DACER (N DEBAC
15 GREET (E}-12
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77 ldentify the odd one
{Ay  heart (By  liver (C] nose (Y kidneys
(T8 18,10.8,4,8,7
Ay & (B 4 iC) 35 m 25
79,  Which makes the best comparison?
TOMATO : MTOOTA - : 1234127
(A} 312214 (B) 123456 () aziizd4 Dy 213314
I'H_IZI;;I My brother is standing 40 m South-West of my sister. | am standing 40 m South-Enst of
my brother. [ am in which direction of my sister?
(A} South . B West {C) East (D}  Worth-East
.:‘_i} Find the next letters in seres ; BCZ, DEY, FGX, HIW,
Ay JEL By JEV ) JEU Dy JET
82,  Find related word
Conscience : Wrong : : Police :
(4 thief (B) law (C)  disciplioe (D} crime
’iﬁ} A shopkeeper sells one transistor for Re. 840 at a gain of 20% and another for Rs, 960 at a
loss of 4%. His total gain or loss percent ig
15 16 i 3 5 2z
E.-. Sl =0 0y 6="% loss
(A 517%103; (B) ﬁ”'ﬁﬁgmn () GE gain {m 3
* B4, A boatman goes 2 km against the current of the stream in 1 hour and goes 1 km along the
current in 10 minutes. How long will it take to go § km in stationary water?
(A} 40 minutes (B} 1 hour (C) 1hrl5min (D) 1 hr 30 min
* B5.  In how many wave can the letters of the word LEADER can be arranged?
(Ay T2 (B} 144 (C) 360 D 720
“ B, One pipe can fill a tank three times as fast as another pipe. If together, the two pipes can
fill the tank in 36 minutes, then the elower pipe alone will be able te fill the tank in
(A) 81 min (B) 144 min (C) 108 min (D) 192 min
(870 1f log27=1.431, then the value of log9 is
(Ay 0,934 (B) 0.954 {Cy 0.945 (D) 0958
GREET (E}-12 16,
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(88, H,(x)=1-x0<x<1
=1, =x21
=0, otherwisc

H,{x)=-H,x) for all *

H,lz)= H,(-x) for all =

H,[x)=-H,ix) for all x

How many of the following products are necesgarily zero for every value of ‘x™
H,(x)=Hy(z); Hylz)s Hlz): Hl=)= Hylx)

Ay 0 B 1 iy z (m i

1B {é?‘v In the following diagram, how many triangles are there?

Ay 12 (B) 13 0 1 m 10

T ,@ The length of the bridpe, which a train 130 m long and traveling at 45 kmfhr can eross in
30 sec is
(A) 200 m (B} 225 m () 245m oy 250m

in 91y  If‘PAPER fs 11.20, 'PENCIL' is 9.83, what will be the PEN?

A 1280 (B) 1180 (o 166 (Dy 138

i *02.  What iz the sum of all the numbers less than 100 that can be written as the sum of
9 eonaecitive positive integers?

Ay 812 (By 630 Wy T2 (D 604

17 GREET (E}-12
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83.  Anchserver 1.6 m inll is 2043 awny from & tower. The angle of elevation from his aye to
the top of the tower is 30% The height of the tower is

(A 2LGm (B 22Zm C) 24.72m (0 ldm

& «+ 8.  The sum of a three digit number and the number formed by reversing its digits is 989,
The sum of its digits 13, Find the middle digit
Ay @ {B) 8 iy 4 m 2

95.  ABC is » threo digit number. The sum of its digits is 8. If each of BA and BC are twe digit
numbers such that BA = BC - 3, How many wahies O can take?

Ay 16 B & () 26 Dy 36

6__5;, A test consists of 50 questions. Each correct answer fetches 1 mark and for each wrong
answer 112 mark is deducted. A candidate who wrote this test attempted all the questions
andl scored 41 marks. Find the number of questions he answered corroct]ly?

(A} 46 By az Wy 44 Dy 48

.t # 87, When the numerator of & fraction is increased by 7 and denominator is increased by 13,
the resulting number is equivalent to the obtained when the numerator is decreased by 2
and denominator 18 decreased by 11, The sum of numerator and denominntor is 24, Find

the fraction
1 T u 5
o 23 ® 17 « 13 ™ 19
* ﬂ‘.l Two siraight lines can divide a circular disk into a maximum of four parts. Likewise, inta
how many maximum parts can four straight lines divide a circular disk? )
4y 11 moo © @ i 41
" 89, If (ABCD), = D'a*0+ C'a*l+ B'a 2+ A"a*3,
(448}, /(2112), = (v),, then y is
{A) 011 B 10 (Cy 110 {1

1Al 100 Five persons namely, Yosin, Arafat, Rasheed, All and Rohman are to be seated in five out
of the six seats numbered from 1 to 6. The following table provides informntion ahout the
serinl numbaors of the seats (given in the table under their name) en which each of the
maentiofed frends can pq:a.uihly Hit.
Mames  Yasir Arafat  Rasheed Ali Rehman
Seat Mo 1 Zor3 2 3ord dorS  Sor@

If one of the sents numbered 2 or 4 is uneccupied, then the sumber of different ways five
mantioned persons can be sented is

o1 B 2
03 o 4
GREET (E)-12 18
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